Financial Planning Specialist

MS.

## ENGR. GEFFREY B. CATULIN Acting Regional Manager

## **CONTRACT AGREEMENT**

THIS AGREEMENT, made this \_\_\_\_\_ day of \_\_\_\_\_ APR 0 3 2025 between NATIONAL IRRIGATION ADMINISTRATION, Regional Office No. 1, Brgy. Bayaoas, Urdaneta City, Pangasinan of the Philippines, represented herein by its Acting Regional Manager, Engr. Geffrey B. Catulin (hereinafter called the "Entity") and RIVBROS CONSTRUCTION FACTORS AND DEVELOPMENT of 117 Rizal St., Brgy. Guiset Sur, San Manuel, Pangasinan of the Philippines, herein represented by its Owner, Mr. Romeo C. Rivera (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor execute **Agno RIS/ Solar Pump Irrigation Project** located in **Malasiqui, Pangasinan** under Contract No.: R1-PIMO-202505 (hereinafter called "the Works") and the Entity has accepted the Bid for **EIGHTY-SEVEN MILLION THREE HUNDRED SEVEN THOUSAND FOUR HUNDRED FORTY-SEVEN PESOS & 25/100 (PHP 87,307,447.25)** by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

## NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, *viz.*:
  - a. Philippine Bidding Documents (PBDs);
    - i. Drawings/Plans;
    - ii. Specifications;
    - iii. Bill of Quantities;
    - iv. General and Special Conditions of Contract;
    - v. Supplemental or Bid Bulletins, if any;
  - **b.** Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- **d.** Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of <u>EIGHTY-SEVEN MILLION THREE HUNDRED SEVEN THOUSAND FOUR HUNDRED FORTY-SEVEN PESOS & 25/100 (PHP 87,307,447.25)</u> or such other sums as may be ascertained, RIVBROS CONSTRUCTION FACTORS AND DEVELOPMENT agrees to Three Hundred (300) calendar days in accordance with its Bid.



MS. RHODA-S. ECHANES Financial Planning Specialist B

Witnesses:

RIVBROS CONSTRUCTION FACTORS & DEVELOPMENT By:



ENGR. GEFFREY B. CATULIN Acting Regional Manager

National Irrigation Administration By:

ITEM NO.	DESCRIPTION	QTY.	UNIT	UNIT COST	TOTAL
	eral Requirements				
N GOIL	1. Project Bill Board/Sign Board (8ft. x 8 ft.)	1.00	l.s.	8,022.56	8,022.56
Parin e politique Considerat (fin West	2. Temporary Works (Bodega), Mobilization and Demobilization	1.00	l.s.	164,640.77	164,640.77
	3. Construction Safety and Health	1.00	l.s.	332,452.40	332,452.40
II WE	LL DEVELOPMENT			2 2	
11. 47 12.	1. Geo-Resistivity (Multi-				
	Electrode Test)	* .			
	1.a. Geo-resistivity for 15HP	6.00	lot	244,089.42	1,464,536.52
	2. Construction / Drilling of Deep Well				
	2.a. Construction/ Drilling of Deep Well for 15HP	6.00	lot	1,921,604.92	11,529,629.52
III. SU	PPLY, DELIVERY AND INSTA	LLATIO	N OF S	UBMERSIBLE F	PUMP
	1. Supply, Delivery and Fabrication of material				
	1.a. Supply, Delivery and Fabrication for 15HP	6.00	lot	1,088,617.43	6,531,704.58
1 10 10 10 10 10 10 10 10 10 10 10 10 10	2. Installation				
ingresion of the	2.a. Installation for 15HP	6.00	lot	375,573.02	2,253,438.12
IV CII	PPLY, DELIVERY AND INSTA				_,,
14.30	1. Supply, Delivery and Fabrication of material				
	1.a. Supply, Delivery and Fabrication for 15HP	6.00	lot	1,166,834.61	7,001,007.66
	2. Installation				
	2.a. Installation for 15HP	6.00	lot	402,557.93	2,415,347.58
V SO	LAR INVERTER AND CONTRO	1	1		
1.50	1. Supply and Delivery of Solar Inverter and Controller with Casing	6.00	lot	472,426.51	2,834,559.06
	2. Installation of Solar Inverter and Controller with Casing	6.00	lot	162,987.14	977,922.84
VIST	RUCTURAL WORKS	1			
71.51	1. Mounting Structure	1			
	1.a. Supply and Delivery of Mounting Structure		e i Jest Mile e V	e en jakon kun kun disebitak	An was my set the same of the same
	1.a.1. Supply and Delivery for 15HP	6.00	unit	1,900,017.90	11,400,107.40
	2. Installation of Mounting Structure				
	2.a. Installation for 15HP	6.00	lot	187,287.48	1,123,724.88
	SUBTOTAL				48,037,093.89

Page 2 of 5 Contract Agreement for the Agno RIS/ Solar Pump Irrigation Project

MS. RHODA S. ECHANES Financial Planning Specialist B

Witnesses:

RIVBROS CONSTRUCTION FACTORS & DEVELOPMENT By:



National Irrigation Administration By: ENGR. GEFFREY B. CATULÍN Acting Regional Manager

ITEM NO.	DESCRIPTION	QTY.	UNIT	UNIT COST	TOTAL
ni kudawa	2. Structure Excavation (By Manual)	237.00	cu.m.	348.47	82,587.39
e mengan kereja	3. Structure Backfill w/ Compaction (By Manual)	197.94	cu.m.	336.37	66,581.08
	4. Concrete Structure, 211 kg/sq.cm., Class A	39.06	cu.m.	14,000.93	546,876.33
1	5. Fabrication and Installation and NIA Logo	of Perime	ter Fen	ce, Steel Gate	
	5.a Masonry Works				
	5.a.1. Masonry Works for 15HP	6.00	lot	71,451.12	428,706.72
	5.b. Metal Works				
	5.b. Metal Works for 15HP	6.00	lot	1,379,139.16	8,274,834.96
	6. Gravel Blanket	189.24		2,371.11	448,708.86
	7. Stilling Pool	6.00		46,706.16	280,236.96
	8. Reinforcing Steel Bars			2	
	8.a. Furnishing & Stockpiling (Various Sizes)	2,610.84	kg	96.47	251,867.73
the the section	9. Cutting, Bending & Placing (Various Sizes)	2,610.84	kg	58.45	152,603.60
vii. st	9. Cutting, Bending & Placing		a tak ya Majari wa ka	. I Sur multiple as the religion between	est many per military colors a solution of the
VII. SU	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of		NOFL	. I Sur multiple as the religion between	PIPES (for 15hp
VII. SU	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes  2. Installation of Distribution	CALLATIO	N OF I	DISTRIBUTION	7,318,135.98
	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes  2. Installation of Distribution Pipes	6.00 6.00	lot lot	1,219,689.33 420,792.83	152,603.60 FPIPES (for 15hp 7,318,135.98 2,524,756.98
	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes AI SATELLITE ASSISTED M	6.00 6.00	lot lot	1,219,689.33 420,792.83	7,318,135.98 2,524,756.98
	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring	6.00 6.00 <b>IONITOR</b>	lot lot	1,219,689.33 420,792.83	7,318,135.98 2,524,756.98
	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite	6.00 6.00 <b>IONITOR</b>	lot lot ING S	1,219,689.33 420,792.83 <b>YSTEM</b>	7,318,135.98 2,524,756.98 9,491,656.14
VIII.	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System	6.00 6.00 <b>IONITOR</b> 6.00	lot lot ING S	1,219,689.33 420,792.83 <b>YSTEM</b> 1,581,942.69	7,318,135.98
VIII.	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System  RTIGATION SYSTEM	6.00 6.00 <b>IONITOR</b> 6.00	lot lot ING S	1,219,689.33 420,792.83 <b>YSTEM</b> 1,581,942.69	7,318,135.98 2,524,756.98 9,491,656.14 2,847,496.86
VIII.	9. Cutting, Bending & Placing (Various Sizes)  JPPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System  RTIGATION SYSTEM  1. Fertigation System	6.00 6.00 <b>IONITOR</b> 6.00	lot lot ING S	1,219,689.33 420,792.83 <b>YSTEM</b> 1,581,942.69 474,582.81	7,318,135.98 2,524,756.98 9,491,656.14
VIII.	9. Cutting, Bending & Placing (Various Sizes)  PPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System  RTIGATION SYSTEM  1. Fertigation System (Including Irrigation	6.00 6.00 <b>IONITOR</b> 6.00	lot lot ING S	1,219,689.33 420,792.83 <b>YSTEM</b> 1,581,942.69	7,318,135.98 2,524,756.98 9,491,656.14 2,847,496.86
VIII.	9. Cutting, Bending & Placing (Various Sizes)  JPPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System  RTIGATION SYSTEM  1. Fertigation System (Including Irrigation Conveyance Facilities)  2. Installation of Fertigation	6.00 6.00 <b>IONITOR</b> 6.00 6.00	lot lot lot lot lot	1,219,689.33 420,792.83 YSTEM 1,581,942.69 474,582.81	7,318,135.98 2,524,756.98 9,491,656.14 2,847,496.86
VIII.	9. Cutting, Bending & Placing (Various Sizes)  JPPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System  RTIGATION SYSTEM  1. Fertigation System (Including Irrigation Conveyance Facilities)  2. Installation of Fertigation System	6.00 6.00 <b>IONITOR</b> 6.00	lot lot lot lot lot	1,219,689.33 420,792.83 <b>YSTEM</b> 1,581,942.69 474,582.81	7,318,135.98 2,524,756.98 9,491,656.14 2,847,496.86 4,402,182.72
VIII.	9. Cutting, Bending & Placing (Various Sizes)  JPPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System  RTIGATION SYSTEM  1. Fertigation System (Including Irrigation Conveyance Facilities)  2. Installation of Fertigation	6.00 6.00 <b>IONITOR</b> 6.00 6.00	lot lot lot lot	1,219,689.33 420,792.83 YSTEM 1,581,942.69 474,582.81	7,318,135.98 2,524,756.98 9,491,656.14 2,847,496.86
VIII.	9. Cutting, Bending & Placing (Various Sizes)  JPPLY, DELIVERY AND INST  1. Supply and Delivery of Distribution Pipes 2. Installation of Distribution Pipes  AI SATELLITE ASSISTED M  1. Supply and Delivery of AI Satellite Assisted Monitoring System  2. Installation of AI Satellite Assisted Monitoring System  RTIGATION SYSTEM  1. Fertigation System (Including Irrigation Conveyance Facilities)  2. Installation of Fertigation System  CTING AND COMMISSIONING	6.00 6.00 <b>IONITOR</b> 6.00 6.00	lot lot lot lot	1,219,689.33 420,792.83 YSTEM 1,581,942.69 474,582.81 733,697.12 253,125.51	7,318,135.98 2,524,756.98 9,491,656.14 2,847,496.86 4,402,182.72

The **National Irrigation Administration** agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

ENGR. GEFFREY B. CATULIN
Acting Regional Manager

MR. ROMEO C. RIVERA

Owner

Witnesses:

MS. RHODA'S. ECHANES
Financial Planning Specialist B

for

NATIONAL IRRIGATION ADMINISTRATION - REGION 1 for

RIVBROS CONSTRUCTION FACTORS AND DEVELOPMENT

BEFORE ME, a Notary Publicator and in the above jurisdiction, this APR 0 3 2025 at BINALONAN, PANDAGE ENGR. GEFFREV P. CARRYLL DESCRIPTION OF THE STATE OF THE ST ENGR. GEFFREY B. CATULIN, Acting Regional Manager of the National Irrigation Administration Regional Office No. 1, with Professional Regulation Commission (PRC) Identification Card No. 0105815, valid until 05 October 2025, and MR. ROMEO C. RIVERA, CONSTRUCTION **DEVELOPMENT FACTORS AND RIVBROS Owner** of License No. FO1-80-013226 \_, valid until 2032 01 22 , are known to me to be the same persons who executed the Contract Agreement consisting of five (5) pages, including this Acknowledgment, and they acknowledged to me that the same are their own free and voluntary act and deed, as well as the institutions they represent.

WITNESS MY HAND AND NOTARIAL SEAL on the date at the place first above written.

Doc. No. 194 Page No. 40 Book No. 52 Series of 2025

WITH DECEMBE PTR NO.28123 TM:924-410-IBP LIFETIME I 05907. Pancarman ROLL OF ATTY.'S HO.46228

National Irrigation Administration By: ENGR. GEFFREY B. CATULIN Acting Regional Manager

Page 5 of 5